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P‐hardness:

Deterministic Turing Machine (DTM) T = (S,Σ, δ, s0) 

where: t ∈ Σ ,  s0, accept ∈ S,   δ: S × Σ→ (S  × Σ × {‐1,0,1})

• T divided into cells, cursormove along the tape
• An input string I is written on the tape: the first |I| 
cells c0,…,c|I|‐1 of the tape, all other cells contain t

• T takes successive steps of computation according to 
δ.

δ(s,σ) = (s’, σ’,d) (d = ‐1 or 0 or 1)
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T: DTM

Transition function t=hs,σ, s’,σ’,di expresses 
the following if‐then‐rule:

If at some time instant τ the DTM is in state 
s, the cursor points to cell number π, and 
this cell contains symbol σ

Then at instant τ +1 the DTM is in state s’, 
cell number π contains symbol σ’, and the 
cursor points to cell number π+d



• Possible to describe the computation of a DTM T
on input string I from its initial configuration at 
time instance 0 to the configuration at instant N
by a (horn) propositional logic program L(T,I,N)

• The goal: encode the PTIME Turing computation 
of T on input I with a horn logic program L and 
an atom G, s.t. L ² G iff T accepts I in at most N
steps



• symbolα[τ,π] for 0 ≤ τ ≤ N, 0 ≤ π ≤ N and α ∈ Σ. 
Intuitive meaning: at instant τ of the computation, 
cell number π contains symbol α

• cursor [τ,π] for 0 ≤ τ ≤ N, 0 ≤ π ≤ N. Intuitive 
meaning: at instant τ of the cursor points to cell 
number π

• states[τ] for 0 ≤ τ ≤ N and s ∈ S. Intuitive meaning: 
at instant τ the DTM T is in state s

• accept Intuitive meaning: T has accepted.

Propositional atoms 
(there are many, but only polynomially many…)



• Initialization facts:
symbolσ[0,π] ← for 0 ≤ π ≤ |I|, where Iπ = σ
symbolt[0,π] ← for |I| ≤ π ≤ N
cursor[0,0] ←
states0[0] ←



• Transition rules: t=hs,σ, s’,σ’,di 0 ≤ τ,π ≤ N

symbolσ’[τ+1,π] ← states[τ], symbolσ[τ,π], cursor[τ,π] 
cursor [τ+1,π+d] ← states[τ], symbolσ[τ,π], cursor[τ,π] 
states’[0] ← states[τ], symbolσ[τ,π], cursor[τ,π] 

• Inertia rules: 0 ≤π ≠ π’ ≤ N

symbolσ[τ+1,π] ← symbolσ[τ,π], cursor[τ,π’]

• Accept rules: 0 ≤ τ ≤ N

accept← stateaccept[τ] 



Our encoding precisely simulates the 
behaviour machine T on input I up to N steps.

(This can be formally shown by induction on 
the time steps.)

Therefore:

L(T,I,N) ² accept if and only if the DTM T 
accepts the input string I within N steps.

The construction is feasible in Logspace.

Horn clause inference is P-complete



Forward chaining

• Idea: fire any rule whose premises are satisfied in the KB
– add its conclusion to the KB, until query is found

© Mitchell P. Marcus



Forward chaining algorithm (Minoux)

• Forward chaining is sound and complete for Horn KB�

© Mitchell P. Marcus



Forward chaining example
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This algorithm can be implemented to run  in 
Linear time on a Random Access Machine.

It suffices to use appropriate data structures (arrays)

Read the Minoux Paper

Propositional Horn inference is feasible in 
Linear Time

© Mitchell P. Marcus
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